► $x(t) = \cos(\Omega t + \phi)$, when sampled at rate $f_s = 1/T_s$ samples/sec,

・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・

► $x(t) = \cos(\Omega t + \phi)$, when sampled at rate $f_s = 1/T_s$ samples/sec, produces

$$x[n] = x(nT_s)$$

► $x(t) = \cos(\Omega t + \phi)$, when sampled at rate $f_s = 1/T_s$ samples/sec, produces

$$x[n] = x(nT_s) = \cos(\omega n + \phi)$$

・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・
・

► $x(t) = \cos(\Omega t + \phi)$, when sampled at rate $f_s = 1/T_s$ samples/sec, produces

$$x[n] = x(nT_s) = \cos(\omega n + \phi) ,$$

◆□▶ ◆□▶ ◆臣▶ ◆臣▶ 臣 の�?

where $\omega = \Omega T_s$.

► $x(t) = \cos(\Omega t + \phi)$, when sampled at rate $f_s = 1/T_s$ samples/sec, produces

$$x[n] = x(nT_s) = \cos(\omega n + \phi) ,$$

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

where $\omega = \Omega T_s$.

Two different sampling periods T_s and T'_s may result in the same *effective* ω.

► $x(t) = \cos(\Omega t + \phi)$, when sampled at rate $f_s = 1/T_s$ samples/sec, produces

$$x[n] = x(nT_s) = \cos(\omega n + \phi) ,$$

where $\omega = \Omega T_s$.

• Two different sampling periods T_s and T'_s may result in the same *effective* ω . This happens when

$$T'_s = \pm T_s + kT$$

< □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > < □ > <

► $x(t) = \cos(\Omega t + \phi)$, when sampled at rate $f_s = 1/T_s$ samples/sec, produces

$$x[n] = x(nT_s) = \cos(\omega n + \phi) ,$$

where $\omega = \Omega T_s$.

• Two different sampling periods T_s and T'_s may result in the same *effective* ω . This happens when

$$T'_s = \pm T_s + kT$$

 $(T = 2\pi/\Omega)$, period in continuous time.)

► $x(t) = \cos(\Omega t + \phi)$, when sampled at rate $f_s = 1/T_s$ samples/sec, produces

$$x[n] = x(nT_s) = \cos(\omega n + \phi) ,$$

where $\omega = \Omega T_s$.

• Two different sampling periods T_s and T'_s may result in the same *effective* ω . This happens when

$$T'_s = \pm T_s + kT$$

 $(T=2\pi/\Omega, \text{ period in continuous time.})$

 Aliasing: Two different sinusoids in continuous time, with frequencies Ω and Ω'

► $x(t) = \cos(\Omega t + \phi)$, when sampled at rate $f_s = 1/T_s$ samples/sec, produces

$$x[n] = x(nT_s) = \cos(\omega n + \phi) ,$$

where $\omega = \Omega T_s$.

• Two different sampling periods T_s and T'_s may result in the same *effective* ω . This happens when

$$T'_s = \pm T_s + kT$$

 $(T=2\pi/\Omega, \text{ period in continuous time.})$

 Aliasing: Two different sinusoids in continuous time, with frequencies Ω and Ω', may produce sample sequences having the same effective frequency ω

► $x(t) = \cos(\Omega t + \phi)$, when sampled at rate $f_s = 1/T_s$ samples/sec, produces

$$x[n] = x(nT_s) = \cos(\omega n + \phi) ,$$

where $\omega = \Omega T_s$.

• Two different sampling periods T_s and T'_s may result in the same *effective* ω . This happens when

$$T'_s = \pm T_s + kT$$

 $(T=2\pi/\Omega, \text{ period in continuous time.})$

• Aliasing: Two different sinusoids in continuous time, with frequencies Ω and Ω' , may produce sample sequences having the same effective frequency ω when sampled at the same instants nT_s .